CHAPTER 6: APPLYING ALL THE BASIC SKILLS TO PARAGRPAHS
SET 3 QUIZ

Directions: Read each passage, and then answer the questions based on it. 

Paragraph One


       Unjustified, unexcused killings are criminal homicides. They are subdivided into three categories: murder, manslaughter, and negligent homicide (a lesser form of involuntary manslaughter). A premeditated and deliberate, intentional and malicious (with malice aforethought—meaning the perpetrator had no justification or excuse) killing is murder in the first degree. Without premeditation or deliberation, it is murder in the second degree. Voluntary manslaughter is a killing committed intentionally but without malice, as in the heat of passion or in response to strong provocation without an opportunity to cool off. A crime is called an involuntary manslaughter when a person causes the death of another unintentionally but recklessly by consciously disregarding a substantial and unjustifiable risk that endangers the person’s life. In some jurisdictions there exists a lesser form of involuntary manslaughter, called negligent homicide, a killing usually in conjunction with automobile or industrial accidents.

Source: Adapted from Freda Adler, Gerhard Mueller, and William Laufer, Criminal Justice: An Introduction, 2nd ed., New York, McGraw-Hill, 2000, p.34.

1. The topic of this paragraph is 



a. criminal homicides



b. unjustified killings


c. murder in the first degree


d. manslaughter

2. The main idea of this paragraph is



a. Unjustified, unexcused killings are criminal homicides.

b. A crime is called an involuntary manslaughter when a person causes the death of another unintentionally but recklessly by consciously disregarding a substantial and unjustifiable risk that endangers the person’s life.

c. Unjustified, unexcused killings are criminal homicides, and they are subdivided into three categories: murder, manslaughter, and negligent homicide. 
d. They are subdivided into three categories: murder, manslaughter, and negligent homicide (a lesser form of involuntary manslaughter).
3. In this paragraph premeditated (line 3) means


a. done on impulse



b. committed by more than two people who are working together


c. planned by someone who is not mentally well


d. planned or plotted in advance



4. Which of the following is supporting detail that explains voluntary manslaughter?  
a. a premeditated, deliberate, intentional and malicious killing
b. murder committed without premeditation or deliberation

c. killing committed intentionally but without malice


d. killing usually in conjunction with automobile or industrial accidents that is a lesser form of involuntary manslaughter
5. The writing pattern and type of information organized is


a. sequence 



b. problem-solution


c. cause-effect


d. list

6. Some clues to the pattern are

 
a. but

b. first degree, second degree

c. unjustified, unexcused

d. is called

Paragraph Two
     One of the most striking contrasts between the United States and Brazil, the two most populous nations of the Western Hemisphere, is in the meaning and role of the family. Contemporary middle-class North American adults usually define their families as consisting of their husbands or wives and their children. However, when middle-class Brazilians talk about their families, they mean their parents, siblings, aunts, uncles, grandparents, and cousins. Later they add their children, but rarely the husband or wife, who has his or her own family. The children are shared by the two families. Because middle-class Americans lack an extended family support system, marriage assumes more importance. The husband-wife relationship is supposed to take precedence over either spouse's relationship with his or her own parents. This places a significant strain on North American marriages.  

Source: Conrad Phillip Kottak, Cultural Anthropology, 8th ed., New York, McGraw-Hill, 2000, pp. 199-200.

7. The topic of this paragraph is

a. the United States and Brazil

b. extended family support systems

c. the difference in the meaning and role of the family in the United States and Brazil


d. Contemporary middle-class North American families

8. The main idea of this paragraph is

a. One of the most striking contrasts between the United States and Brazil, the two most populous nations of the Western Hemisphere, is in the meaning and role of the family.

b. Contemporary middle-class North American adults usually define their families as consisting of their husbands or wives and their children. However, when middle-class Brazilians talk about their families, they mean their parents, siblings, aunts, uncles, grandparents, and cousins.

c. The children are shared by the two families. Because middle-class Americans lack an extended family support system, marriage assumes more importance. 

d. The husband-wife relationship is supposed to take precedence over either spouse's relationship with his or her own parents.

9. In this paragraph precedence (next to the last line) means


a. control; power


b. lesser standing; diminished significance

c. priority; increased importance

d. having no role in


 10. Which supporting detail describes Brazilians?


a. Their families consist of husbands or wives and their children.


b. Marriage assumes more importance since the couple lacks an extended family-support system.

c. The husband-wife relationship is supposed to take precedence over either spouse's relationship with his or her own parents.


d. They consider their children, but usually not their spouse, as part of their family.
11. One of the patterns in this mixed-pattern paragraph is



a. a contrast between U.S. and Brazilian definitions of family.



b. a sequence of changing U.S. and Brazilian family structures.



c. a cause-effect pattern of why U.S. and Brazilian family structures are the  way they are.



d. a list of characteristics of families.

12. Some clue words to one of the patterns used in this mixed-pattern paragraph is

a. later

b. one of the

c. contrasts, however

d. more importance
Paragraph Three


     Contemporary surveys indicate that a strong majority of the U.S. public believes that criminal punishments are not sufficiently severe, although this sentiment is stronger among men, whites, political conservatives, and religious fundamentalists. Over the last two decades, however, we have not been weak-kneed in our resolve to punish criminals. Use of the death penalty has been on the rise, sentences have been getting longer, and the number of people under correctional supervision has been skyrocketing. In fact, the number of adults under correctional supervision increased from 1,840,421 in 1980 to 5,690,695 in 1997, a rise of over 200 percent. Those incarcerated in jails and prisons increased nearly 250 percent. The current per capita prison population is 445 per 100,000, a rate that ranks with Russia’s as the highest in the world. The state of California has been leading the way, now incarcerating more people than France, Great Britain, Germany, Singapore, and the Netherlands combined.

Source: Adapted from Ronald Berger, Marvin Free, and Patricia Searles, Crime, Justice, and Society, New York, McGraw-Hill, 2001, p. 399.

13. The topic of this paragraph is

a. contemporary surveys

b. criminal punishment


c. the death penalty

d. correctional supervision



14. The main idea of this paragraph is

a. Contemporary surveys indicate that a strong majority of the U.S. public believes that criminal punishments are not sufficiently severe, although this sentiment is stronger among men, whites, political conservatives, and religious fundamentalists.

b. Although a strong majority of the U.S. public believes that criminal punishments are not sufficiently severe, criminal punishments have increased dramatically over the last two decades.
c. Those incarcerated in jails and prisons increased nearly 250 percent and the current per capita prison population is ranks with Russia’s as the highest in the world.

d. Use of the death penalty has been on the rise, sentences have been getting longer, and the number of people under correctional supervision has been skyrocketing.

15. In this paragraph weak-kneed (line 4) means


a. not having strong knees


b. decisive


c. determined


d. lacking strength of character or purpose

16. Which of the following is a supporting detail about criminal punishment?



a. The use of the death penalty has been decreasing.


b. The number of people under correctional supervision has steadily declined.



c. Sentences have been getting longer.



d. Over the last two decades, criminal punishments have not been sufficiently severe.

17. The writing pattern used to organize the information in this passage is

a. comparison-contrast.
b. sequence.

c. cause-effect.

d. list. 

18. A clue to the pattern is

a. over the last two decades

b. in fact

c. nearly

d. however





Paragraph Four


Tropical Rain Forest, a Terrestrial Ecosystem   

     Tropical rain forests are the most complex ecosystems in the world. They are found near the equator where there is plentiful sun and rainfall the entire year. Major rain forests are located in South America, central and west Africa, and Southeast Asia. Rain forests have multilayered canopy which consists of broad-leaved evergreen trees of different heights. Most animal populations live in the canopy where they interact with each other. Brightly colored birds, such as toucans and macaws, fly around eating fruits, buds, and pollen. Other birds, such as long-billed hummingbirds feed on nectar often taken from small plants that grow independently on the trees. Tree sloths and spider monkeys are mammals that live in the canopy and are preyed upon by jaguars. Other canopy animals include butterflies, tree frogs, and dart-poison frogs. Many canopy animals, such as bats, are active only at night. Snakes, spiders, and ants are animals that live on or near the ground and not in the canopy. 

Source: Sylvia Mader, Inquiry into Life, 9th ed., New York, McGraw-Hill, 2000, p. 11.

19. The topic of this paragraph is

a. the most complex ecosystems in the world

b tropical rain forests

c. animal populations of the canopy

d. tree sloths and spider monkeys

 

20. The main idea of this paragraph is

a. Tropical rain forests are the most complex ecosystems in the world.
(stated; first sentence)
b. Major rain forests are located in South America, central and west Africa, and Southeast Asia.

c. Rain forests have multilayered canopy which consists of broad-leaved evergreen trees of different heights. 

d. Many canopy animals, such as bats, are active only at night.
21. In this paragraph canopy means

a. a covering above a bed

b. the uppermost layer in a forest, formed by the crowns of the trees

c. in certain cultures, a cloth beneath which wedding vows are exchanged 

d. the layer of a rainforest ecosystem that is closest to the ground

22. The writing pattern and type of information organized in the paragraph is

a. effect of pollutions on rain forests

b. comparison-contrast between two types of ecosystems

 
c. definition of tropical rain forest


d. list of major rain forests of the world

23. Some clues in the paragraph to the pattern are

a. such as

b. Other
c. no clue words or signals (but all of the details explain or describe some aspect of tropical rain forests)

d. Many 

Paragraph Five


Race as a Biological Construct
     In the biological construction of race, people belonging to a given race are said to share distinctive gene characteristics that produce specific physical traits. People are defined as either Caucasoid, Negroid, or Mongoloid (Asian) on the basis of skin color, nasal index, hair texture, hair color, eye color, head form, lip form, facial index, stature, and blood group. Sometimes even intellectual characteristics were claimed to vary by race. Scientifically, however, the idea of a pure race is nonsense because the world's gene pools are mixed to the point where only general groupings can be distinguished. Moreover, differences within a supposed race sometimes are greater than those between races. Many residents of south India, for example, have darker skin pigment than most African Americans. In the United States we often speak as if whites and blacks belong to distinct genetic groups, but virtually all African Americans have some white ancestry, and just under a tenth of "whites" have some African American ancestry.

Source: J. John Palen, Social Problems for the Twenty-First Century, New York, McGraw-Hill, 2001, p. 63.

24. The topic of this paragraph is


a. the biological construct (or construction) of race   (given in the title and the first sentence)

b. the idea of a pure race


c. blacks and whites in the United States


d. specific physical traits

25. The main idea of this paragraph is

a. In the biological construction of race, people belonging to a given race are said to share distinctive gene characteristics that produce specific physical traits, and people are defined as either Caucasoid, Negroid, or Mongoloid (Asian) on the basis of skin color, nasal index, hair texture, hair color, eye color, head form, lip form, facial index, stature, and blood group.

b. Scientifically, however, the idea of a pure race is nonsense because the world's gene pools are mixed to the point where only general groupings can be distinguished.

c. In the United States we often speak as if whites and blacks belong to distinct genetic groups, but virtually all African Americans have some white ancestry, and just under a tenth of "whites" have some African American ancestry.

d.  In the biological construction of race, people belonging to a given race are said to share distinctive gene characteristics that produce specific physical traits, but scientifically the idea of a pure race is nonsense because the world's gene pools are mixed to the point where only general groupings can be distinguished, and differences within a supposed race sometimes are greater than those between races. (formulated by combining the important ideas in the paragraph)


 
26. In the title of this paragraph, construct means



a. man-made bodies of water designed for swimming.



b. to build or create.



c. a concept; something invented by the mind.



d. a statement that is factually true.

27. A comparison-contrast pattern is used in the paragraph to present a



a. comparison of the similarities among all races.



b. contrast between the biological construction of race and the scientific fact that there are no “pure” races.

c. contrast of the differences among various gene pools.



d. comparison between race and biological constructs.

Note: Could also be viewed as cause-effect: the scientific proof—reasons--that “pure” races do not exist

28. Some clues to the pattern are the words


a. are defined as


b. because


c. however, differences



d. Sometimes

Paragraph Six


     Internet auction houses work quite simply. First, you register as a user at a particular auction house. Once you do, you’ll have a special user ID (perhaps your e-mail address or a special name you give yourself) and password that allow you to post products for sale or bid on other products. When the auction is complete for a particular product (auction houses set time limits that last typically from one to seven days), the auction house will notify the seller and the winning bidder of the final price. Then, it’s up to you and the other person to exchange money and merchandise.

Source: Adapted from Stephen Haag, Maeve Cummings, and James Dawkins, Management Information Systems for the Information Age, 2nd ed., New York, McGraw-Hill, 2000, p. 79.

29. The topic of this paragraph is


a. Internet auction houses


b. special user IDs


c. winning bidders


d. exchanging money and merchandise

30. The main idea of this paragraph is



a. Internet auction houses work quite simply. (stated;  first sentence)
b. First, you register as a user at a particular auction house. Once you do, you’ll have a special user ID (perhaps your e-mail address or a special name you give yourself) and password that allow you to post products for sale or bid on other products.

c. When the auction is complete for a particular product (auction houses set time limits that last typically from one to seven days), the auction house will notify the seller and the winning bidder of the final price.


d. Then, it’s up to you and the other person to exchange money and merchandise.











31. In this paragraph post mean



a. to send a letter.



b. to denounce somebody by displaying damaging information publicly.



c. to put up signs around a property warning against trespassing.



d. to make information appear on line or at an Internet location.


32. How many supporting details are there in the paragraph?



a. two



b. three 



c. four



d. six

33. The writing pattern that organizes the information in the paragraph is


a. comparison-contrast


b. definition


c. cause-effect


d. sequence 
 (describing the procedure for using Internet auction houses) 








34. Some clues to the pattern are



a. special



b. First, Then


c. notify


d. exchange
Paragraph Seven

     A gland is a tissue that secretes a substance within or from the body. The glands of the body can be divided into exocrine or endocrine. Exocrine glands secrete substances from the body, and are further divided into apocrine and eccrine glands. Both apocrine and eccrine glands have ducts through which the apocrine gland secretes sebaceous fluid, like the oil that is secreted to the surface of the skin, or the bile ducts of the liver. The eccrine gland secretes sweat. The endocrine gland is ductless and secretes a substance directly into the blood. Traditionally, the substances secreted from endocrine glands were known as hormones. Research during the last decade has revealed that the traditional definition of a hormone may not be appropriate. It is now known that tissues other than true endocrine glands secrete substances that act as hormones. For example, the hypothalamus, heart, kidney, liver, gastrointestinal tract, lymphocytes, and endothelial cells all secrete substances that exert regulatory effects on other tissues. 
Source: Adapted from Robert A. Robergs and Scott O. Roberts, Exercise Physiology for Fitness, Performance, and Health, New York, McGraw-Hill, 2000, p. 185.
35. The topic of this paragraph is


a. exocrine and endocrine glands


b. apocrine and eccrine glands


c. glands and hormones         (clue: bold print)

d. hormones

36. The main idea of this paragraph is

a.  Exocrine and endocrine are two types of glands, tissues that secrete a substance within or from the body; hormones are regulatory substances secreted by endocrine glands and certain other tissues.
(formulated)


b. A gland is a tissue that secretes a substance within or from the body, and the glands of the body can be divided into exocrine or endocrine.

c. Exocrine glands secrete substances from the body, and are further divided into apocrine and eccrine glands.

d. Research during the last decade has revealed that the traditional definition of a hormone may not be appropriate.

37. In this paragraph secrete means

a. to absorb

b. to sweat

c. to dry up

d. to generate a fluid




38. According to the supporting details, the two types of glands that have ducts are:



a. apocrine and eccrine



b. exocrine and endocrine



c. exocrine and eccrine



d. apocrine and endocrine

Paragraph Eight

     A major division in Islam was created by a dispute over the succession to the caliphate (the political and religious leadership of the community). As a result, two major divisions, the Sunnis and the Shiites, were formed. Although the Shiites and Sunnis agree on the fundamentals of Islam, they differ in other respects. The Sunnis are an austere sect that is less authoritarian and more pragmatic than the Shiites. In their view, as long as Muslims accept Allah, they are free to interpret their religion as they like. The Shiites, in contrast, insist that these claiming to be Muslim must put themselves under the authority of a holy man (ayatollah).

Source: Adapted from Donald A. Ball and Wendell McCullough, International Business, 6th ed., Boston, Irwin/McGraw-Hill, 1996, p. 270.

39. The topic of this paragraph is


a. the succession to the caliphate


b. the Shiites and the Sunnis


c. Allah and the ayatollah


d. a major division in Islam

40. The main idea of this paragraph is



a. Although the Shiites and Sunnis agree on the fundamentals of Islam, they differ in other respects.

b. As the result of a dispute over the succession to the caliphate, two major divisions of Islam, the Sunnis and the Shiites, were created.



c. The Sunnis are an austere sect that is less authoritarian and more pragmatic than the Shiites, and in their view, as long as Muslims accept Allah, they are free to interpret their religion as they like.

d. Shiites insist that those who claim to be Muslim must put themselves under the authority of a holy man (ayatollah).

41. In this paragraph succession means



a. the sequence in which one person after another succeeds to a title or throne



b. giving in or yielding to a more powerful force



c. being granted the highest position of religious power



d. being successful in achieving a goal

42. Which of the following supporting details explain the two types of Muslims?



a. Shiites and Sunnis agree on the fundamentals of Islam.
b. Sunnis are an austere, less authoritarian, and more pragmatic sect that believes that as long as Muslims accept Allah, they are free to interpret their religion as they like.



c. Shiites insist that those claiming to be Muslim must put themselves under the authority of a holy man (ayatollah).



d. all of the above







43. The writing pattern used to organize the information in the passage is



a. cause-effect



b. comparison-contrast



c. mixed (both cause-effect and comparison-contrast)


d. none of the above

44. Some clues to the pattern are



a. as a result



b. differ; more; less; in contrast



c. both a and b



d. none of the above

